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QUESTION 1

Why does the Threshold Calculator need a set of sample matched pairs? 

A. To show how many tasks are in the Hub 

B. Because False Positives and False Negatives need to be purged from the database 

C. To show the hub how willing the customer is to trust the matching and linking process 

D. Sample pairs, when validated by the customer, show the calculator where False Positives and Negatives are 

Correct Answer: C 

 

QUESTION 2

Which table would store Edit Distance weights for comparing Driver\\'s License combined with a Postal Code? 

A. mpi_wgt2dim 

B. mpi_wgtHead 

C. mpi_wgt1dim 

D. mpi_wgtNval 

Correct Answer: A 

 

QUESTION 3

What type of data is stored in the mpi_MemCmpD table? 

A. Member Company Names 

B. Member Comparison Functions 

C. Member Comparison Strings 

D. Member Composite Views 

Correct Answer: C 

 

QUESTION 4

Which log option is recommended to help you monitor the progress of your Jobs, like Compare Members in Bulk
(MPXCOMP)? 

A. Timer Logging 
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B. SQL Logging 

C. Trace Logging 

D. Debug Logging 

Correct Answer: A 

 

QUESTION 5

Which task type works with records that come from different sources? 

A. Potential Overlay 

B. Potential Duplicate 

C. Potential Linkage 

D. Review Identifier 

Correct Answer: C 

P2090-078 VCE Dumps P2090-078 Practice Test P2090-078 Study Guide

Powered by TCPDF (www.tcpdf.org)

P2090-078 VCE Dumps | P2090-078 Practice Test | P2090-078 Study Guide                                3 / 3

https://www.geekcert.com/p2090-078.html
https://www.geekcert.com/p2090-078.html
https://www.geekcert.com/p2090-078.html
http://www.tcpdf.org
https://www.geekcert.com/p2090-078.html
https://www.geekcert.com/p2090-078.html
https://www.geekcert.com/p2090-078.html

